CKI\OOS\'\/\O\ a’&(lv&% W & Agcdcinn {‘(U/

Note Title J

o seokin 135 (103} He doxt bl closenles b+ dhsose
NI atrlvee & (pl& on, \Ws d\»lb ér Qa éf(/iou.(
BT YNNG protlewn (12 v, ovly  poshve at V\z@m'l‘\\-/t/
40)60(\/\»{)1%3~ He/t/ e Aotcnle. o meuzmm it Hat
preceame e g ochars problems:

gv(\()ﬂ\b v have
! N ’[TWW sav»\o\//j DL\))L,_ . SN
J

an allibote, A wda D obtht alves , ok
the dminly sob Mo Sueeks S\, G Sp.
Tl,{/ wimber o Ugerds  in SA i< n”(‘

P
[ Znd=N )

21

—

\o Q‘“("’A’b"‘ it %Fah\? sanples i Soq IS —ll)l)

T\/\QJ‘C,.WQ/ C docses = 1,1 .. C -

Tlfi’/ e 0'6 Aeparcts ’QDM e fet go{ N
S dpvoted 1y,

- c
Uhws = Mo = WA @ o=1,2,...D .

c=I




e pro o fiow of ooy '@mm’fbe/@(“ S
m Jags ¢ i Aunsted ﬂ;tc

E-v\%)

TA = W

)C/
ok

e evchbm it pe Athhedon € g i S :
Lo Ha, can ke tapstah a¢
C
Hd = 2 //u;t)(, lojLTl;\J&

c=1

Te expesteld odropy 41 dlibte A, slousted EA
D

X O\\N’M Lﬁ
C’(A> = > Ty Hg\

A=

W vt b e fre ottnlke Né Wl e \ma\rwr\' _ﬁ':@if"vw&*o\/\ qun\a :
G o gain = (canrot eknpy ) — (exprted etropy) ;0 Hhi
X @{w\fal@w‘r to M/Wo$1\z:7 fe attnlide pith  lovest expedted @V\‘h\a@

T e hooge

AS = amman E(A)
A






